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­  Tie two loops in the ends of a rope that is about 1 m long.  

­  Hold a loop in each hand as a classmate carefully hangs a 
   1 kg mass in the middle of the rope.  

­  Start with your hands together and slowly move your hands apart.

­  Is it possible to hold the rope such that it will lie in straight line
    parallel to the floor?   

Demonstration
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As the hands are moved apart, the horizontal components of 
force increase.  The forces acting along the rope also in­
crease.  Each hand must still exert an upward force of 4.9 N 
to balance the downward force of 9.8 N.

4. 9 N4. 9 N

9.8 N

4. 9 N4. 9 N

9.8 N

The weight of the mass is 9.8 N.

When the hands are together each hand exerts an upward
force of 4.9 N.  There are no horizontal components of force.

It is not possible to pull hard enough to make 
the rope perfectly straight.     
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The First Law of Motion

"An object at rest or in uniform motion will remain at rest or in uniform motion 
unless acted upon by an unbalance/external force."

The resultant force (or net force) must equal zero in order for the first law of motion to apply.
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Static Equilibrium

If an object is at rest, then we say that it is in a state of 
"static equilibrium."
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Note
When the ropes supporting Nellie are at diffe­
rent angles to the vertical, the tensions in the 
two ropes are unequal.
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Ay + By + (­Fg) = 0

 The sum of the vertical components is 0 N.   

Ax + Bx = 0 

 The sum of the horizontal components is 0 N.   

ceiling

A B

Turkey 
Town

Example
In order for the sign to be in static equilibrium, the sum 
of the forces acting on the sign must be zero.
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Fg

Ay By

BxAx

ceiling

A B

Turkey 
Town
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Static Equilibrium

Static Equilibrium equal angles two cables 

static equilibrium 2 cables different angles 

Static Equilibrium two cables one is horizontal 

http://www.youtube.com/watch?v=dxm9lsbubpw
http://www.youtube.com/watch?v=yepha3wobeg
http://www.youtube.com/watch?v=1ohs0eb9e6q
http://www.youtube.com/watch?v=nibkwomsu2g


P12 ­ Static Equilibrium.notebook

10

February 12, 2014

Sample Problems

1.  A sign that weighs 168 N is supported by two ropes, A 
     and B, that make 22.5o angles with the horizontal.  Deter­
     mine the tension along the ropes.

 

Monkey 
Crossing

ceiling

22.5o22.5o

22.50 22.50

Fg =  ­ 168 N

T2T1 =

22.50 22.50

Fg =  ­ 168 N

T2T1 =
Fy1 Fy2

Fy1 =  Fy2

Static equilibrium means that all vertical 
forces must balance out.

So Fy1 + Fy2 = 168 N 

Fy1  must equal half of 168 N = 84 N

22.50 22.50

Fg =  ­ 168 N

T2T1

84 N 84 N
(adj)

(hyp)(opp)
Sin 22.50 =  opp   = 84N 

                    hyp       hyp

hyp = opp          = 84 N

          Sin 22.50          0.38

hyp = 220 N

 

Ay + By + (­Fg) = 0

 The sum of the vertical components is 0 N.   

Ax + Bx = 0 

 The sum of the horizontal components is 0 N.   

The tension along each rope is 220 N
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Sample Problems - Method 2

1.  A sign that weighs 168 N is supported by two ropes, A 
     and B, that make 22.5o angles with the horizontal.  Deter­
     mine the tension along the ropes.

 

Monkey 
Crossing

ceiling

22.5o22.5o

+ X

+ Y

C

B A

= Fg = mg = 168 N

Ʃ Fx = A cos 22.5 ­ B cos 22.5 + 0 = 0

A cos 22.5 = B cos 22.5         A = B 

Ʃ Fy = A sin 22.5 + B sin 22.5 ­ mg = 0

           B sin 22.5 +B sin 22.5 = mg

           B (sin 22.5 +sin 22.5) = 168 N

           B = 220 N     

The tension along each rope is 220 N
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2.  A traffic light hangs in the center of the road from cables as shown 
     in the figure.  If the mass of the traffic light is 65 kg, what is the 
     magnitude of the force that each cable exerts on the light to prevent 
     it from falling?

 

12o 12o

120 120

Fg =  mg = (65)(9.8) = ­ 637 N

T2T1 =

120 120

Fg =  ­ 637 N

T2T1 =
Fy1 Fy2

Fy1 =  Fy2

Static equilibrium means that all vertical 
forces must balance out.

So Fy1 + Fy2 = 637 N 

Fy1  must equal half of 637 N = 318.5 N

22.50 22.50

Fg =  ­ 637 N

T2T1

318.5 N 318.5 N
(adj)

(hyp)(opp)
Sin 120      =  opp   = 318.5N 

                    hyp       hyp

hyp = opp          = 318.5 N

          Sin 120          0.21`

hyp = 1532N

 

Ay + By + (­Fg) = 0

 The sum of the vertical components is 0 N.   

Ax + Bx = 0 

 The sum of the horizontal components is 0 N.   

The tension along each rope is 1532 N

120 120
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2.  A traffic light hangs in the center of the road from cables as shown 
     in the figure.  If the mass of the traffic light is 65 kg, what is the 
     magnitude of the force that each cable exerts on the light to prevent 
     it from falling?

 

12o 12o

+ X

+ Y

C

B A

= Fg = mg = (65)(9.80) N

Ʃ Fx = A cos 12 ­ B cos 12 + 0 = 0

A cos 12 = B cos 12        A = B 

Ʃ Fy = A sin 12 + B sin 12 ­ mg = 0

           B sin 12 +B sin 12 = mg

           B (sin 12 +sin 12) = 637 N

           B = 1532 N     

The tension along each rope is 1532 N

=  637 N
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Bubba Newton wants to hang a sign weighing 7.50 x 102 N outside 
his apartment.  Calculate the tension in cable B.  

I LOVE 
PHYSICS

A
B60o

TRY

Fg =  ­750 N

O = 600

FTB = ?

Fg FTA

FTB

600

Vector Diagram

The tension in Cable B is 4.33 x 102 N
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Clowns Club

Worksheet ­ Static Equlibrium

3.  After its most recent delivery, the infamous stork announces the 
    good news.  If the sign has a mass of 10 kg, then what is the force 
    of tension along the each cable?
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Clowns Club

Worksheet ­ Static Equlibrium
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3.  After its most recent delivery, the infamous stork announces the 
    good news.  If the sign has a mass of 10 kg, then what is the force 
    of tension along the each cable?
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Static Equilibrium

Static Equilibrium equal angles two cables 

static equilibrium 2 cables different angles 

Static Equilibrium two cables one is horizontal 

http://www.youtube.com/watch?v=dxM9lsbUbpw
http://www.youtube.com/watch?v=YEPHA3wOBEg
http://www.youtube.com/watch?v=1OHs0eB9e6Q
http://www.youtube.com/watch?v=nibkWOMSu2g
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